Practice questions — Year 5 and 6 — Short division

. 9,362 + 4 (short division 4 by 1 digit)
. 7,584 + 6 (short division 4 by 1 digit)
. 8,243 + 3 (short division 4 by 1 digit)
6,138 + 9 (short division 4 by 1 digit)
7,495 + 5 (short division 4 by 1 digit)
. 9,042 = 8 (short division 4 by 1 digit)

. 3,762 =+ 6 (short division 4 by 1 digit)

. 8,251 + 7 (short division 4 by 1 digit)
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Practice question answers — Year 5 and 6 — Short division
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9,362 + 4 = 2,340 remainder 2 (short division 4 by 1 digit)
7,584 + 6 = 1,264 (short division 4 by 1 digit)

8,243 + 3 = 2,747 remainder 2 (short division 4 by 1 digit)
6,138 + 9 = 682 (short division 4 by 1 digit)

7,495 + 5 = 1,499 (short division 4 by 1 digit)

9,042 + 8 = 1,130 remainder 2 (short division 4 by 1 digit)

3,762 + 6 =627 (short division 4 by 1 digit)

. 8,251 +7=1,178 remainder 3 (short division 4 by 1 digit)
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